SHN7TEE $£20 JUEH=E
EVRVEZE B10/3/8) £120 13 :30~16: 00

J=| o8 | 7—< B

- 510|205 | SHRBE (13:30~15:00 1BRIS05) ~KPES (15:20~15:40 20%)

S 7| D TA)IERAEINSTE13 | 00EICHBULL ()

14 %20 SHRHE (13:30~15:00 18RI30%) ~KPEE (15:20~15:40 20%)
78

21 %30 SHRHE (13:30~15:00 1830%) ~KDEE (15:20~15:40 20%)

28 %40 SHRHE (13:30~15:00 1830%) ~KDEE (15:20~15:40 20%)

4 %50 SHRHE (13:30~15:00 18/30%) ~KPEE (15:20~15:40 20%)

11 %60 SHRHE (13:30~15:00 18RI30%) ~KDEE (15:20~15:40 20%4)
88 -

18 |A| =8| 2 |smm= (13:30~15:00 1B30R) ~KPER (15:20~15:40 20%)

53

25 %80 SHRHE (13:30~15:00 18RI30%) ~KDEE (15:20~15:40 20%4)

1 %90 SHRHE (13:30~15:00 16RI30%0) ~KDEE (15:20~15:40 20%)

8 %100 SHRHE (13:30~15:00 16RI30%D) ~KDEE (15:20~15:40 20%)
o8

15 | B |=118 SHRHE (13:30~15:00 16RI30%D) ~KDEE (15:20~15:40 20%)

22 | B |#120 SHRHE (13:30~15:00 16RI30%D) ~KDEE (15:20~15:40 20%)




